DATE

TRACED BY
NOTE BOOK | hpsiGNED BY X
CHECKED BY

DRAWN BY /[
2Ilhdmsl.dgn | QUANTITIES BY

ORIGINAL SURVEY PLOTTED BY

PLAN

No.

t |
T | N E v
= B |;1 ] E 14
§~_____“ K = ’%6”¢ Hole | S 3
' S e Spglylpuinipuspuiey spersl REREISAN AV BN o Z
Jl N N B "L e
NEER H |
N O | i | : ____{g
i . = e
N o |
S i ; 778"
7% 1
. | Zyzu 2]]’6// —;\ 4y,, |
37 " / 4
Je =1= < (typ.) / \41%\
508" 77" All exterior corners = 6"
1" radius
ror SIDE RECYCLED POLYETHYLENE
RECYCLED PLASTIC BLOCKOUT (TYPE I) OF FSET BLOCK (TYPE 1)
Offset Block or Blockout 4 Offset Block or Blockout

Guardrail— Guardrail Post

TRAFFIC >

with recessed nut (See Note No. 6)

' . 0
SffO/?g Post \ ///'/’ Jezzzz=1p-
(PWEO!) \
(PWED2) & FBBO3 guardrail bolt 0 Fill/seal around post

E xploded View e
(Rail and washer not shown) Paved Shoulder A 1'-0"
STEEL POST AND BLOCK DETAIL |
| 2=-0" Min.
————— T 3~:—:——:—:—:—:J|r§—

Reflector Marker (RM-5) - Reflector |
Facing [raffic (Mounted on Guardrail Bolt) Type III or IV Refroreflective

Sheeting (High Infensity) N Guardrail —

Post

- M existing
: 1. ” || ground
> Siot fgr X 2 Design [ .
> < Rounding
// .
>~ Galvanized Steel
(V" Min. Thickness) | SLEVALEH

REFLECTOR MARKER (RM-5) DETAIL AND TYPICAL INSTALLATION TYPICAL GUARDRAIL INSTALLATION

Fill S/ope HIGHWAYS DIVISION
2l Max. GUARDRAIL DETAILS
£ X,-Sﬁ,;;\ | LILIHA STREET REHABILITATION

Ground

FED. ROAD FISCAL | SHEET TOTAL
DIST. NO. STATE PROJ. NO. YEAR - NO. SHEETS

HAWAL | HAW. | 74I3A-01-04M | 2014 | 23 | 62

GENERAL NOTES

All hardware, posts and fasteners shall be hot-dip zinc
coated galvanized after fabrication. No punching, drilling or
cutting will be permitted after galvanizing.

Where conditions require, special post lengths in increments
of 6 inches may be specified.

All fasteners, posts, and rail elements (i.e. FBB0O3, PWEU],

’ RWMOZ2b, etc.) shall conform fo the latest edition and

amendments of "A Guide fo Standardized Highway Barrier
Rail Hardware”, a report prepared and approved by the
AASHTO-AGC-ARTBA Joint Cooperative Committee, Subcommittee
On New Highway Materials, Task Force 13 Report. Dimensions
of fastners, posts and rail elements have been converted from
metric units info their present form.

T'he Recycled Plastic Block or Offset Block shall be approved

" by the State.

All new guardrail systems (system consists of total length of
guardrail including both end treatments) shall include the
Additional Paved Area. |

After the guardrail posts are installed in the paved area,
the Confractor shall fill/seal around each guardrail post
and all cracks in the paved area caused during the guardrail
post installation. If required by the inspector/engineer, the
Contractor shall tamper the paved area around the guardrail
post prior to filling/sealing. All costs associated with this
work shall not be paid for separately, but shall be considered
incidental fo the various guardrail items.

When standards for the fill slope area cannot be mel, a site
specific, engineer approved design may be used.

New A.C. pavement atf guardrails shall extend 6 feef longi-
fudinally beyond terminal ends.

Reflector Markers (RM-5) mounted on guardrails shall be

. spaced every 25 feef. RM-5's shall not be installed on

Terminal Sections. Furnishing and installing of each RM-5
shall be considered incidental to the adjacent guardrail system.

GUARDRAIL TYPE DLMENSH;N
Strong Post W-Beam -9%"| 1-6"
Strong Post Rubrail (W-Beam) 20" | 1-6"
Modified or Strong Post Thrie Beam | 2-0" | 2-0"

) Break Point

______ Lo~

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION

North King Streef fo School Street
Project No. 7413A-01-04M

Scale: NTS Date: April, 2014
SHEET No. / OF 6 SHEETS

23




DATE

(standard plan TE-50 r03/06/87)

DRAWN BY X
TRACED BY
QUANTITIES BY
CHECKED BY

NOTE BOOK | ppgiGNED BY X

ORIGINAL SURVEY PLOTTED BY

PLAN

tdl.ruby/guardrail/wbeamsp.dgn

r11/01/05

FED. ROAD | oratg PROJ. NO. FISCAL | SHEET | TOTAL
S DIST. NO. YEAR NO. SHEETS
¥ — Offset Block or Blockout 4"
| 7 NOTE: ~—— nawan | waw. | 7413A-01-04M | 2014 | 24 | 62
Guardrail — All Holes are W6Ex8.5 ——

PWEO! 34" Dia. Structural

: © Shape — 5
AN *IF“ i 0 Gl o,
§ : , Y 5%// 23/8// 3 i /32 {8
I b O , 0o " biax
= " I e =2 S X ia. X /e
RiE | \ w / Mod. Heavy Recess both
4 n T [N ! Hex Nut sides
X i L 1%" \ /\
PLAN : Joi1d]- f :
- PWEOT o 1 DESIGNATOR 3L ” @)/ -
RWMO2a Offset Block or Blockout : o9 : Fo50] 1% \/ L
AT HI v
%p/;cgf go/ ts | \ < % H : N Lo Y
| R P < In
e 7(:_:_:_:_:_:_4‘5 «© H' GUARDRAIL BOLTS AND RECESSED NUT
| .
FBB03 < l Ground /A I%i Ground
s Line | WA@U”@
L@ < YWNNT T VNNRF NN W '
L NN ) s IR
PWEOI RS A OEQO ~%_
Ground & 1
L/'ne\ _____ - H
¢ ” SIDE FRONT
W-BEAM STRONG POST (PWEO])
ELEVATION | 65" 5
STRONG POST W-BEAM GUARDRAIL ™ ;
(SGR0O4a) t
/ / (+) |
6-3 6-3" IR I @
¢ Rail bolt hole C Rail bolt hole :
8-F BBO! FBBO3 ;
Splice Bolts RWMOZ2a | ©) © ©
Wy&f ‘\(ﬁ /- il j: | 1 y 7 @ 2% 7 / y 7 o : 4 y 7 I 4 V 7 :
TFE L LR it % Tol. 6 S/of Z}fyg) g ; / L A
Yo 'l (L | i “n+5) . | Y |
kS | Lap in direction—/ | 07 8k i
A L AL A1 RWMOZ2a 12 Gauge
= PWEO! B B
2 SPACE W-BEAM GUARDRAIL (RWMOZa) DEPARTME T A ATION
E [_ E V A 7‘]0 N HIGHWAYS DIVISION
STRONG POST W-BEAM GUARDRAIL
STRONG POST W-BEAM GUARDRAIL WITH | . 11 IHA STREET REHABILITATION
RECYCLED OFFSET BLOCK OR PLASTIC BLOCKOUT North King Street to School Street
Project No. 7413A-01-04M
Scale: NTS Date: April, 2014

SHEET No. 2 OF 6 SHEETS

24




2%2// X 2]5/,6//

[ he cross-sectional

dimensions for this
part are to fit over
part RWMOZ2a on the
approach end and

under part RWMOZ2a
on the frailing end.

DATE

BY

DRAWN
TRACED BY

DESIGNED BY

[ he cross-sectional
dimensions for this

{standard plan TE-51 r09/0i/87)

part are to fit over
part RWMOZza

QUANTITIES BY
CHECKED BY

ORIGINAL SURVEY PLOTTED BY

PLAN

NOTE BOOK

3" Min.
PP Y IR @ \%’/>
2'-6 2-3/ Post p 67"R
X = = L-2506° Bend : S =
™ e (optional) BN > N L
<— Lap in direction of ftraffic 29, 1/ -\ g .
7' x 175" Splice <—Lap in direction 1/ 1 10 1/
Splice Boit Siot (typ.) Bolt Slot (typ.) of traffic 2067| | 6P2" | 72"
" x 2)p" " & Holes
Post Bolt S/oz*T (typ.) %" x 2" |
L | - Post Bolt Slof o ) @ >
\ Jgs - =1 <
S RS R —m— -
& 3 X \ s | Q
= B N =% : 2
7 I N B 2 ]
” i ” I s o | Y
3//!4 4//!4 4//! By 7 1 4// ! 4// ; 2// . ! | | \/ — L :
LoLhe T e The cross-sectional 27| 41,"474" S
dimensions for this === :
DESIGNATOR E’)T‘/\L/S]% K%’g% par; %WM%Z fit ov;ahr T Slotted Holes
ar a on e 29 n 1/ n
RWEO2b | 10 Gauge opproach end and DESIGNATOR | T/ 10KNESS B x 1 DESIGNATOR | 2 inr e
under part RWMOZ2a RWEO/a 2 Gauge RTE02b 10 Gauge
on the frailing end.
) THRIE-BEAM SECTION (ROUNDED)
W-BEAM TERMINAL CONNECTOR (RWEOZD) W-BEAM END SECTION (FLARED RWEOIa)
(RTEQZD)
-
Al ¢
30° ® @/ l I S
q Contour to fit olt N
, over RTMO2b S| R
Contour fo fit < S <
over rail element - N Sk
Y
f\ v /\ * > N
30° ® 30° ®
@“ 2//4// Byzu 7y2,,i_
|
Lap in direction 9 0 1l Lap in direction >—2%" x 17" 276"t
é‘— H /32 X 7/8 <~—-‘ . 2 . 8 %
| of fraffic Splice Bolt Slot (typ.) | of traffic Splice Bolt Slot
Shape to fit Shape to fit (typ.)
rail e/emenfj\ rail e/emem‘—]\ P P 7
® & ® @ .
3 S
N 3 N 3 3 S
X © XN o o S
@ @& ® ® ?\]
o R The cross-sectional | | | & P x
20| | _ 8z l W ' dimensions for this  2/"| | 806" | 7" \ /
part are fo fit over | "Varies' Sloted Holes
pesIanAToR |k METAE P eromaron | BASE WETAL B x 16 THICKNESS
THICKNESS RTEO3b ¢ 006
fiWEGea | 12 Gauge RWE03a | 12 Gauge RTE04b auge
[HRIE-BEAM

rdl.ruby/guardrail/te5irev.dgn

W-BEAM END SECTION (BUFFER RWEO6a)

r6/21/0]

W-BEAM END SECTION (ROUNDED RWEO3a)

END SECTION (BUFFER RIEO3D

or RTE04D)

TOTAL
SHEETS

SHEET
NO.

FISCAL
YEAR

FED. ROAD
DIST. NO.

STATE PROJ. NO.

HAWAII HAW. | 7413A-01-04M | 2014 25 62
‘3/l|
i | | |
T— ]
2/_6//
,//¢ :)74// X 2]/2//
Holes Post Bolt U
NS fyp.)7\ S/ofT 74
N
Ak L __ -
T
T ~ °
b T T wl s
S ' s b LP\ N
N o = .
t\,____—_ _GL < — :ﬁ\ m\s
:f D 8" ! 4%//4%// 3 \__29/32” p /yg//
2-6" Slots
DESIGNATOR | T M2
RTEOID 10 Gauge
[HRIE-BEAM
TERMINAL CONNECTOR
(RTEOQOID)

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

GUARDRAIL TERMINAL CONNECTORS

AND END SECTIONS
LILIHA STREET REHABILITATION
North King Street fto School Streef

Project No. 7413A-01-04M
Scale: NTS Date: April, 2014

SHEET No. 3 SHEETS

25

OF 6




FISCAL | SHEET TOTAL

DATE

DRAWN BY _X
TRACED BY
QUANTITIES BY
CHECKED BY

NOTE BOOK | npsiGNED BY X

ORIGINAL SURVEY PLOTTED BY

PLAN

fdl.ruby/quardrail /thriebeam.dgn (standard plan TE-57 ril/03/89 ¢ TE-57a ril/03/89)

ri1/01/05

. | 6-3" 4 6-3" , 6-3" | ” | 126" | Fggfﬁé? STATE PROJ. NO. YEAR NO. | SHEETS
— . I'ransition Section | | 2" 44l | o HAWAI | HAW. | 74I3A-01-04M | 2014 | 26 | 62
L O N1 O | I ¢ Post Bolt Slot ‘
o NN | . / | M /
L il e === e e
= o '\ '°T" T Iap in direction of fraffic_ oY /g N = /; /33/037‘ é/}o/f Slot
L —— _ axere”
- N . s A / ]
! N RTMO2b RWTOIb L Ll " Sgplice Bolt Slot
| * gg _—Finish Grade / = B x )" Slots
& ) SR 7 S, Digfi%ce be7‘w<5>7§nPP0f57;B S//fm‘g/ , 4
b | , and the sum o
%: , Tl e v for Tirie beam Coners 1o bo dosionfed, wexas 1
: TRANS]T[ON SECT[O/\/ . RA[L S/D/.[CE Structural
Shape———=|
NOTE:
All Holes are 34" Dia. 5 a
5, — " 298" "
s /% %" Reflector Marker (RM-5) - 57 % ,;l _ :/i
7-305" | . 314" Reflector Facing Traffic -
315" 31" sl e ¢ A e o (Mounted on Guardrail . i
. Post Bolt ~4V4’L_J—-1 o | S &= \ W / ~ 1 ,Q_/Lé_;. 1" Bolt). For detfails and N R
o A" Slots _ i 2?’ Mt notes, see Guardrail - I NI
) | | . L /3/8// ‘:Eco \§+®75/ " Details $ Notes sheetf. :3\03 L -
N = — TR 1" Dia. x " X j i/ y | 5 I ’ EJ: ‘ -
== i ' == %od. A/;/e;?zvy Recess bo/;g Ti 3 <€QL T | dﬁ;i?
/ LZ" Min. 2" Min—~ <. i ex i sides -A %’T‘ _"’546”/'? EE
Splice Bolt Slot _ O R
%" X 108" (typ.) Post Bolt Slot / = a - ¢ . I
% x 2l thyp) N3/ - e, % Lo
) ‘ —— o nol
TRANSITION SECTION (RWTOIb) " 'V | ~ ' — Ground 3
S Line . ol Ground
DESIGNATOR | L %R '> \ J — T LL/'ne
FBBO! /%” K y I{ = I - NN NN '::— R
Offset Block or Blockout FBBOZ 2" — Se| | L
Y FBBO3 ’0” ' o (v)' | i B
uararall Pun SECLLlUh [Hny TYPICAL INSTALLATION OF S
A | = - GUARDRAIL BOLTS RAIL ELEMENT REEIECTOR MARKER (FI-5) !
O :O o hE AND RECESSED NUT | (RIMOZD) SIDE FRONT
g‘ |~ 75/8”/1\5?8 7 ‘
= , | [HRIE-BEAM STRONG POST
P AN | FOR PLASTIC SPACER BLOCKS
RTMOZD | : N -
Offset Block or Blockout 7 ‘o TN 1
¢ 575 NS 1 XN
FBBOI1 | l , y " " ~~ T —
Splice Bolts 3 " _ 42" e . 76" 13/ o
: N~ % I e e terativn ol I o 2]3/4// /‘/jG/ ﬁy
c====5p- tg T T __: ole + /6”
FBB03 T I : 1 i
| = | N XN
< === z-zzlb < < S ___L___——T!TJ—__._H //g ™~ : N N 5/ u
S N q» v 1 %
o) 0 SN S .i\°° % —H—/ Hole il = :—-'_‘—.:—?::—;:-1:— Lo
=~ fround =~ E(ound NN RN / 4; LS\ < | - i
1ne— Ine— o o Y )
/ e / - H ﬁ : 3 7y "
~ : | N ) ” STATE OF HAWAI
NN 7 3 u : % 8"t %f 6 DEPARTMENT OF TRANSPORTATION
= //8 | 6/_]/8 ol 21/”2” B , \ N\ HIGHWAYS DIVISION
2l o 1612/2 12" 116 _
FLEVATION ELEVATION 35| 2 (iyp) I 2L LIONG 0o
57 oy TONGPN THRIE-BEAM GUARDRAIL
STRONG POST STRONG POST THRIE-BEAM TOP SIDF 6"t LILIHA STREET REHABILITATION
THRIE-BEAM GUARDRAIL MEDIAN GUARDRAIL — = RECYCLED POLYETHYLENE North King Sireet 10 school Sireel
MODIFIED 6X8X22 PLASTIC BLOCKOUT - ' Project No. 7413A-01-04M
(SGROa) (SGMO3a) T ) [HRIE-BEAM OF FSET BLOCK Scale: Not fo Scale Date: April, 2014
([YPE [-THRIE | ([YPE [[ - TH/'—\)]E) SHEET No. 4 OF 6 SHEETS

26




DATE

(standard plan TE-59 rll/03/89)

DESIGNED BY X
QUANTITIES BY
CHECKED BY

DRAWN BY X
TRACED BY

ORIGINAL SURVEY PLOTTED BY

PLAN

NOTE BOOK

tdl.ruby/guardrail /te59rev.dgn

r3/13/02

e ROD | srare | prosNo. | FISCAL | SHEET | ToTal
Either full penetration | . — ;
weld or bend to fit Hex. Nut For Details of Concrete HAWAI | HAW. | 7413A-01-04M | 2014 | 27 62
for %" Bolt Anchor Block in Ground
| See Def. below. Flared End — Edge of Paved Area
//2//X3//X23/4// Plate Meta/ Guard \ f‘ ‘ /_ g f
4" Weld all around fail - Element | L S W S S S S S S S S
/4 V// We/d \ L=
4
1/ ’ ;
V// /D/afe v /4 Plate \ Vafies —
Hex. -5 \ \ %S - Direction of Traffic Ldge of Travelway Paved
Nut - N S %" A/;ach/‘ne - Shoulder
— - - — — — (T T < | ! 3 Bolt € Cut 197 Pl AN
/ Dia. QL - _ _ _ _ u }\ RN @ /}//4’ Washer on Limits of —
Stud —! // o=\ = =l 4 Front Face TPaymgnf/_f/or
@‘ ) J N ype 1o are
1" Dia. T o Weld —= 13| /D Finished Grad
Hole in 3/ \ L " = if i t !I 1! — A " " "
%" Plate 274 o ii ii EE 33 55 : EE ii Ei ! 35
Standard Swage -] ! ! ! ! ! ! ! ! ! ! ! !

Connection for 34" Cable
ELEVATION

ANCHOR PLATE DETAILS

[YPE "G" FLARE END TERMINAL

NOTE:

1" Dia,

3/8 ”" .
ST e
/_J_l connected Type "G" Modified End Terminal is a site specific end terminal with a
nnn Ao faper and radial termini. A site specific detailed drawing is required for all
N > < Type “G” Modified End Terminal and must receive Engineer's approval.

T'he taper (flare rate) of the guardrail shall follow the latest edition of
AASHTO'S Roadside Design Guide (currently, Table 5.6 - Suggested Flare Rafe
for Barrier Design, page 5-21, Jan. 1996 edition).

The radius of the radial termini is an Engineer's judgement based on the

]%//

Stud threaded NN
entire length

STANDARD SWAGED FITTING site evaluation. The Engineer shall consider safety (minimize the spearing #
| blunt end situation); degree and potential seriousness of the hazard; bicycle
AND STUD and pedestrian accessibility; maintenance equipment accessibility; Right-of-Way

availability; the smallest radii the metfal w-beam/thrie-beam railing can be
constructed (check with supplier/contractor); posted speed limit; angle of vehicle
impact; and aesthetics when designing the Type “G” Modified End Terminal.
Secure Cable Loop During construction, the Contractor shall layout the proposed Type "G"

W75 Cable Clips | Modified End Terminal and receive approval from the Construction Engineer

prior to installation.
1 6 4 * Note: 2"-0" When Installed
" " with Rubrail
2 | I i | 2 .
BN
ﬂ_—i + + + + :r}_i i_’—i
1 I = R R 3'x3'x3'
Finished | ez | NS Concrete Anchor
Grade Wv / Iﬁgtv@::::\::\ P / (Class A Conc.)
\:\\\:::\ 4 X § !
| L%" Cable | / CTEssL o N . o 6"
| | | RS L N o
- — Anchor 1 L1%" Galv. Rod 1L | L F"x3"x6" Steel
a Plare 1 W/Welded Eye e e Plate Welded To
q~ ROd STATE OF HAWAII
: : . 8"5/8 " BO;?LS : : : :—— _4 o _<1—v — : DEPARTM:Q':W(:\‘:STS:,‘E?OZORTAT|ON
L w/nuts L | L - |
washers | GUARDRAIL DETAILS
ANCHOR BlLOCK DETAIL LILIHA STREET REHABILITATION

North King Street fo School Sireef

I. Concrete, G.R.P., excavation, anchor rod and miscellaneous appurtenances necessary Project No. 7413A-0r-04M
fo anchor the guardrail ends shall be incidental to metal guardrail. Scale: NTS Date: April, 2014

SHEET No. 5 OF 6 SHEETS

27




M

LENGTH OF
NEED

SEE DETALL 'J'

i
1

PN 3000G CABLE ASSE

PN 33795G STRUT 3" x-3"
PN 704A CABLE ANC

o

\

\

S

\

PN 782G BEARING PLATE
GUARDRAIL EXIT SLOT AWAY FROM TRAFFIC

)
)
-

12'-6" OF STEEL STRONG POST W-BEAM WITH OFFSET BLOCKS

PN 32G GUARDRALL P
12 GA x 12'-6" LG

2-1 1/2"

12'-6" ET PLUS TERMINAL

“2”

PN 995A GUARDRAIL EXTRUDER

FACE OF GUARDRAIL MAY BE OFFSET
FROM Q" -12" MAX OVER 25'-0" LENGTH

___ TRAFFIC

DATE

SURVEY PLOTTED BY
DRAWN BY X
TRACED BY

NOTE BOOK | hegiGNED BY X
QUANTITIES BY
CHECKED BY

X.dgn

ORIGINAL
ddx.x

PLAN

No.

3/22/12 tdl/ruby/quardrail /TL-2/efplusti2_C4.dgn

PN 33795G STRUT 3" "
/- =/

TRAFFIC SIDE

NOTE: Do not attach guardrail to Post #.

Object Marker Nofe:

The stripes for Object Marker shall slope
downward at an angle of 45° towards the
sides of the extruder head where fraffic
is fo pass.

PN 19258A
/ BEARING PLATE
PL 5/8 x 8" x 8"

VIEW "K-K"

® ® ® @) ®
DO NOT ATTACH RAL TO POST *1
6|_3|| 6‘__3” 6'_3”
5/8"~ x 11/4" LG HGR. 3/8"~ x 1 1/2" HEX HD 390
SPLICE BOLTS & NUTS W/ WASHER, HEX NUT & FEND
WASHER (PLACE FENDER WASHER
A INSIDEPOST FLANGE) — 1
\ ] -} -‘1 i ﬂ =
s % [ | | ° | g
M b o 3 J N
2 \ :
o~ S
NN 0%\ ’g
SEE
DETAL K"
AFTER FINAL ASSEMBLY,
RECHECK CABLE TO BE
SURE IT IS TAUT AND
HAS NOT RELAXED.
-
PN 1457
POST W6 x 8.5
5 ., 5/8"~ x 1 1/4" LG HGR. %
3 BOLT WITH HEX NUT > 7/16"~ x 1 1/2" (2) HEX BOLTS W/
- VAR ye POST W6 x 8.5 o () FLAT WASHER UNDER BOLT HEAD
—' & OVER SLOT, (1) LOCK WASHER, () HEX
T| OFFSET BLock NUT & () PLATE WASHER EACH
GROUND GROUND LINE
LINE
SEE -
DETAL "H" T
)
J
—
N
DETAL 'J'
I I
SECTION A_A SECTION HB_BH
(TYP @ POSTS + 3 AND BEYOND)
(POST *+2)

FED. ROAD FISCAL | SHEET | TOTAL
DIST. NO. STATE PROJ. NO. YEAR " NO. SHEETS

HAWAII HAW. | 74I3A-01-04M | 2014 | 28 62

PN 3000G CABLE ASSEMBLY

PN 3379
STRUT 3" x 3"

BILL OF MATERIAL
PN DESCRIPTION
32G| 1 |12/12'-6/6'3/S ANC (GUARDRAIL)
704A| 1 |CABLE ANCHOR BRACKET
995A| 1 |[ET-PLUS EXTRUDER
3000G| 1 |CABLE 3/4 x 6'6
3340G| 9 |5/8" HEX NUT
3360G] 9 |[5/8% x 1 1/4" SPLICE BOLT
3701G| 2 |3/4" FLAT WASHER
3704G| 2 |3/4" HEX NUT
3717G| 2 |3/4° x 2 1/2" HEX HD BOLT
3900G| 2 |1" FLAT WASHER
3910G| 2 1" HEX NUT
4254G| 4 |3/8" FLAT WASHER
4255G] 2 |3/8" FENDER WASHER (1 1/2 OD
4258G| 2 |3/8" LOCKWASHER
4261G| 2 |3/8° x 11/2" HEX HD BOLT
4389G| 2 |7/16" FLAT WASHER
4390G| 2 |7/16% x 11/2" HEX HD BOLT
4393G| 2 |7/16" LOCK WASHER
4396G| 2 |7/16" HEX NUT
4699G| 2 |3/4" LOCK WASHER
6321G| 2 |3/8 x 2" HEX HD BOLT
6405G] 4 |3/8" HEX NUT
66688| 1 |OBJECT MARKER
14578G| 1 |POST SYT *2
19258A1 1 |5/8" x 8" x 8" BEARING PLATE
33795G| 1 |ANGLE STRUT (ET/SYTP/HBA)
33871A1 1 [POST ET PLUS HBA *1 TOP
33873A| 1 |POST ET PLUS HBA *1 BOTTOM

PN 33871A POST
(UPPER POST W6 x 8.5)

PN 3000G CABLE
ASSEMBLY W/ 1"~
HEX NUT & WASHER
EACH END

i
3/4"~ x 2 1/2" HEX ,’. 3/8"~ x 2" HEX HD
BOLT W/ WASHER & LOCK ! BOLT W/ WASHER
WASHER UNDER HEX NUT \% & LOCK WASHER
PN 33873A POSPNDER HEX NUT
(LOWER) W6 x 8.5
DETAIL "K"
T ( POST #1)
TRAFFIC SIDE
YIELDING HOLES
APPROXIMATELY
CENTERED ON
GROUND LINE
' STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
’ HIGHWAYS DIVISION
DETAIL "H" LILIHA STREET REHABILITAT ION
( POST *2 ) North King Street fo School Sitreet

Project No. 7413A-01-04M

Scale: Not fo Scale Date: April, 2014
SHEET No. 6 OF 6 SHEETS

28




